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- ~EBEHEEFE10 4~ 0 X 250 &)

1. & %38 ;¢ Sy x3-1 845N 2x2-3x+4 0 B fix)'% 1 X xtl AR L o
(A)-3x+2 (B)-5x+2 (C)3x-2 (D)5x-2

<fai5>

S0)=(x3-1)q(x)+2x2-3x+4=(x-1) (o +x+1)g(x)+2x>-3x+4

A2 +x+1 fﬁ“f
S 2x2-3x+H4=2 (1) +H(-5x42)

#B-
1 12 1 2 3 1 2 3 4 1 3 ~
3—’}. Z — N — N = %V = NV = V= NV = N = N = N = N = rf’]«\ /;_’ '—::L‘zi‘]:?
2. ﬁ;ﬁﬁ,{]lj ) 5 5 3 3 3 P 4 4 4 PR J-EU{j: EJZ h r},}_ E.
(A)419 (B)420 (C)421 (D)422
<fZ{7>
Tl E I 2000 R 2 a3k 128= 2406 7
1 12 22 333 3 3 2813 2
..5‘5‘5 ....... ‘E..Eﬁ 419 78 » £ Ao
3. 4rt Bl PEAEXF RS OREPAHETES- £ VER IBR
FAEP ARLTEFTINOE 2L HA T > X F R
A T R I 2R
(A)525 (B)600 (C)625 (D)650
<fE$7>

REFVEROT x> Ry
2 (x-3)+(x-2)+y+y=95 » x+y=50
e A4 . xty 50
fir Ep72E5 %2\/35_)/ ’ 72\/)6_)/ » xy<625
frRER RS 625 T3 8 HECo

4. Assuming n is a natural number, the maximum 7 value that satisfies v/ 73+/n<10 is .
(A)725 (B)726 (C)727 (D)728
<ﬁz 7>

V 73+V/n<10—73+/n<100 » /n<27
..n<27*=729
Bld~ p R#En=728>F Do

5. % AABC ¢+ AB=4 » BC=5 » TA=6 » Aleos™=___ = ()2 B (OXADYL
<fZ$7>
42+62—52:i

| 3% TI2 5 cosd=
FIT AR R - cosd=—=g

A l+cosd 5V2 .
cos—= [——— E B~
2 2 8
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6. NABC ¥ » LA2 & T L RBBEBCAHH2L2Z 85 D> AB=3» AC=5> £A=120°» P|AD
s E % o 15 15 15 15
2E 5 o (A7 B (OF Dx

<jZ{7>

""AABC 2. % #=/\ABD 2_ % $#+/\ACD 2_ % #

5 3-55in120°=; -3-AD-sin60°+; -5-AD-sin60°

.15=8>AD » AD=2 i B -

7. S ¥ fix)=3cosx-4sinx+2 F B * BEPF o x 2 F S %49
A)%- %1 B)¥=- %14 (O%= %14 D)2 %14

<fZ{7>

f(x):5(2c0sx-§sinx)+2:5cos(x+a)+2

A cosaz% ’ sinazg cate - %

x=-afFF RSB caF e %L FE Do

8. % x A K AL QTHIX(G)2=0 0 Pla=__ (A2 (B)2 (CH (D)4
<fztr>

£ =5)>0DP=()

1,??.;‘ —472+71-2=0> (4£-1)(t+2)=0

A2 E) QPR =2 E A

9. 10 %fppd 7 fpeilizk > BB 332 2 23> B & 3 B -
(A)5400 (B)5600 (C)6300 (D)6600 —

<fE47>

_{f:\_C%OC;CéC%_IZOX%xe

212! 4 =6300> & C-

10, RFIEXRZHSF P E o XEFALTEE L4508 ARNEL) Plich
WALt TH G AL G EE 0 2 i gend o (A) & s sad
B)¢ =& (O L (D)%

<ﬁ';’v}fr>

RS L x4 SRS L

Pl yi=x+5 > RIHRE L 72 %

#Co
1. P dcx sy o3t 00 2 2=3=6"> Blxhy=__ < (A (B); (O (D)
<jZ{7>
2'=6" 5 (276"....(1)
{3}’ 6"}’-){3 =6"....(2)
3 ()x(2)182:3=6"6" » 6=6""
Jaxty=1>E Do
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+-2001
12. _—,_‘F”TS'FF t EPEFEA T BiE pX106 PO - ')’\’pr @ chbg 1% 5N Lp=52"15 5 R Lu;v;g-ﬁ
A v B A 2006 & A ¢ B2 29
(A)2017 & (B)2019 & (C)2021 & (D)2023 &
<fate>
2006-2001 I
2006 & A v = 5270 15 = 523

T nERFACEN2E 352 15 72><(523) 215 =03

nZOOli_’ _ ’
T =2021> % C -

13. Let P be the center of circle (x+2)*+(3+3)’=1. Draw a tangent line to the circle from a point
0(1, 1) outside the circle. The tangent point is R. What is the area of triangle POR?

(A6 (B (C)2v6 (D)3V6 . @

<fZ{7>

F P(-2,-3) P_Q=J(-2-1>2+<-3-1)2=5
PO’ =PR+RQ" » 25=14+RQ" » RO=V5*-1>=\24
PIAPOR i 4 =1xv24x=V6 » i B -

o1, 1)

I 5

P(-2,-3)

14, % &7 % 8(1.25)>107 b | & e s o (log2:=0.3010)
(A)70 (B)71 (C)72 (DY73

<j3t5>

log()> log107Pn(logs-log)>7 > n(1-log2-2log2)>7

n(1-3x0.3010)>7—>nx0.097>7 » n>=——=72.1 > n=73 » B D -

15. F|ax+6|<b efiz 5 1<x<5 > Pl#$t(a, b= -
(A)(-2,4) (B) (2,-4) (C) (-2, -4) (D) (2, 4)

<ﬁ';’v}fr>
Lo 2 S Pt 2
! 3 2> [x-3|<2>|2x-6/<4

|-2x+6|<4—>(a, b)=(-2,4) > £ A -

16. K a~b 5 & 7 # 2log,a=11>log,b=13 » :# K log (ath)z E B FHiT ™ 5|7 ipE 57 ?
(A)12 (B)13 (C)14 (D)23
<ﬁ';’v}fr>
"log,a=11—a=T7"" > log,b=13—>b=T7"
. log, (atbh)= log, (711+713)= log, 7'1(1+49)= log77“+log750
—11+10g750 11+log,49=1142=13 » i B -

17. B2, 7)PEMRF £ 505 BFRES - 083 SR TRIS 2= 76 fi b
% 22(A)9 (B)18 (C)14 (D)28

<jE$7>

L2, NE MG L ~+7=1 ¥ a0~ b>0

ULiEQR,7) |

2.7
—+—_1 > 18] ;er>’ ‘- —>\/7 Zz_b 4<— 28<— ’ D °

\_—v /? A %(11 ¥ @»)
Taiwan Preliminary (Grade 11)



18. ’"‘Tp »,—»20'—’”;}’7 v ’\iﬁffx"‘fﬁé °
(A)20 (B)25 (C)30 (D)35

<fE$7>
d 2';'9>\/2r 0 100>2r29 25>

f%ﬁ’»"'f’,p 25> B°

19. K¢ 3 571%3:_,‘#’4ll$w oo A TE,“@B’»:H:,T&””"T]E whd > ¥R 20

Fonkyied o FEIOR REYYE °(A); (B)g (C)E (D)E

S
e R LR
' ¢ 36 18
VPR N G_6_3
IS c;’ 36 18
e S 130_65
H ¥ = BT x20+—=x 10———;’ iEA-

20. = 425% sinv=- 3 Hef B dc B - (A)1 B2 (O3 (D)4
<jZ$7>

2r - 2] \/2” x
(-, -1) 0" ]

]—) lﬁﬁgtﬁ#:’}fco

21. If a=9874x9877, b=9875x9876, which of the following is correct?
(A)a>b  (Ba<b  (C)a=b  (D)b-a=3
<ﬁ;’ﬁ>
$ 2x3=6 > Ix4=4 > A Hfr AT > #E%M ﬁv ZAR| > B fFaR s
EJJ a=9874x9877 » b=9875x9876 » a<b » & B o

<¥ 2>
£ x=9875 » a=(x-1)(x+2)= x*+x-2
b=x (x+1)=x*+x » B] b>a > ® b-a=(x*+x)-(x*+x-2) =2
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22. As shown in the figure, the quadrilateral ABDE is a rectangle and the A F

quadrilateral FCDE is a square. CD=DE=6 cm, then what is the area of the
colored triangle AGE in square centimeters? (A)12 (B)14 (C)16 (D)18
<jE{7>

B C 6 D
NAFG=/\BFG(% &% %)
B ANAGE=/\FBE=FExAB+2=6x6+2=18 > i D o

Sl g 1X2x3+2x4x6+3x6x9+...+2000x4000x6000 1 1 1 1
23. ¥ =2 (A~ BY— (O— D)=
3x4x5+6x8x10+9x12x15+...+6000%8000% 10000 10 100 1000 27
<fZ{7>
1x2x3_ 1
3x4x5 10
Dx2x342x4x6 _ 648 _ 6+48 1 4 . 1
J— p— J— b - ]_EL:_
3x4x5+6x8x10 60+480 10(6+48) 10 10
3.~3,73 3
_IX2x3x(1°427437+...4+2000%) _1x2x3_ 1,
}:\?‘ ;\4— ( )— — ’ l'lg A o

3x4x5x(13+2343% 4. 42000%) 3x4x5 10

24. How many zeros will appear in the product of 999...999 x999...999? (¥ & 3 & i 0)
100 9 100 9

(A)97 (B)98 (C)99 (D)100
<fiz45>

9%x9=81—0 1 0

99%x99=9801—1 & 0
999%999=998001—>2 & 0

B =99 @ 0 E Co

<¥ 2>
(1010°—l)><(10100—1)210200—2x1010°+1=999. ..980000...01—200 i+ #x
99 i 9 99 0

25. ¥ ¢ \ﬁ;fg&gﬁgii,ﬁiv‘gga \feﬁ&m»};ﬁgtﬁqzig,ﬁ;:gg} v e \ﬁj;/\;;:;’;

B2 120 RSP AT o K ARG g Hien
"Rk 5 A2 (A)220 (B)330 (C)440 (D)550

DR AREAR c ERKFF 705 0 B

<jE$7>
a z ﬁ
= 5 27 27 27
p®T sz zm 27+(1+2)=9 27+(1+2)=9 81-9-9=63
e N SR T 9+(1+2)=3 81-3-21=57 63+(1+2)=21
P s po2 81-19-7=55 57+(1+2)=19 21+(1+2)=7
Fa R en® oo =55:19:7
FPRF 70~ R g3 55x10=550 ~ » :E D -
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I. AABC =& a~brco 2 ==

<fZ47>

(1)¥*CH L AB*> H > # AH=x » BH=c-x » CH=h

2 x2:h2:b2_(c_x)2

a*-x*= b*-(c*-2cx+x?)
2+c -b?

X=
2
(2)/1*\/@:/ sl J( D (a- =)

B \/(a+c) b b~(a-0) 7\/(a+c+b)(a+c—b)(b+a—c)(h—a+c)
B 2 2¢ 2
(3)2s=a+b+092s 2b=a+b+c-2b > 2s-2b=a+tc-b » 2s-2a=b+c-a
(4)AAB C— ch st(zs 2b)(2s-2¢)(2s-2a) \/ G-)(5-b)(5-0)

2¢

2. f#& l+log,(x-1)> log,(x-9) -
<fE$7>
(DF#HE ¥ x-1>0 & x-9>0dx>1 > x>9 > 17 x>9

¥iEAR > ¥
» Rz AABC 5 #=/s(s-a)(s-b)(s-¢)

@B AA)

) m 5 —10g44+log4(x-1)> log > (x- -9)? » log,4(x- 1)>10g4(x -18x+81)

~Ax-4> x2-18x+81 » x*-22x+85<0 » (x-17)(x-5)<0
S5<x<17
d (D)(2)#F » 9<x<17

S A (1 E )
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